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A      0    0 

R      0     1    0 

M     0     1    1 
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Q1-b 

 (i)  

              

                                              

(ii)  

The percentage of the postgraduate students which have chidren is: 
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Q2-A  

1 A 

2 B 

3 C 

4 D 

5 R 

6 CA 

7 AD 

8 DA 

9 AB 

10 BR 

11 RA 

12 AC 

13 CAD 

14 DAB 

 15 BRA 

16 AA 

 17 ABR 

                                                      3  1  4  1  2  5  1  6  8  10  1  9  11 
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Q2-b 
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0.784  > Codeword > 0.78112 

ex : 0.782 

Q3-a  Signal 1 3 2 2 2 4 0 1 

(i) 

1  3              2  2            2   4               0   1 

1+9=10       4+4=8        4+16=20       0+1=1 

1+4=5         0+1=1        0+9=9          4+0=4 

0+0=0         1+1=2        1+1=2          1+4=5 

0+1=1         1+4 =5       1+0=1          1+9=10 

Code: 3  2  4  1 

(ii) Decode: 1 3 2 1 1 4 0 0 
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R(w)=0:0+0.8(0.8)=0:0.64 

R(e)+0.64:0.64+0.8(0.18)=0.64:0.784 

R(?)=0.784:0.784+0.8(0.02)=0.784:0.8 

 

R(w)=0.64:0.64+0.144 (0.8) = 0.6:0.7552 

R(e)= 0.7552: 0.7552+0.144(0.18) = 0.7552:0.78112 

R(?)=0.78112:0.78112+0.144(0.02)=0.78112:0.784 

 



Q3-b 

 

(i) D (0,0) = 
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(ii) D (u, v) = 
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The Syndrome : 0  0  1 

Error vector : 0 0 0 0 0 1 

The codeword: 1 0 1 0 1 1 

 


